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spss

α= 0.01 α= 0.05
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α=0.01α=0.05
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α=0,01
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α=0,01
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α=0,01
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SPSS 22

F- 
statistiquesX1, X2, 

Y

Ho
XkX1, X2Y

Ho: β1 = β2 = β β k = 0 

H1

H1: β1 , β2,β β k ≠ 0 

Sig
Sig = 0.05F
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H0

H1
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Modifier les statistiques 
Erreur 
standard 
de 
l'estimati
on 

R-
deux 
ajust

R-
deu

x
R e 

Sig 
Variati
on 
de F 

ddl
2 

ddl
1

Variati
on 

de F

Variati
on 
de R-
deux 

00034218,77648538232422485

 _libre, mode _auto, mode _demo  

SPSS

Sig T 
Coefficients 

 
 

Coefficients non 
  

 Ecart 
standard B 

,000 
 
 
 

11,609 
 
 
 

 
 
 
 

294 
 
 
 

3,413 
 
 
 

1 Constante),  
ھ  

ھ  
ھ  

 

SPSS



 

 

 88 

Sig=0.000

R=0.676

Sig
B
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H1

H0

H1

H0

H1

H0

H1
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R
R2

BSig

spss

 Sig=0.000

H0H1
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H0

H1 

H0Sig

Sig

Sig

Sig
spss

Sig=0.05
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